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# 11 » JT76 4HW-1 50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE5 -450 Mean: 3HW4 170 6.0 1
v6 4HW-150 -40  3NE3 400 80 1 v JT4 4HE4 -420 -400 3HE5 200 5.0 1
¢ J53 Dif: 0 NS:3 4HW4 420 90 2 + 862 Dif: -30 NS:-2 4HW4 420 1.0 1
» AT865 IMP: 0 EW:-3 » KQ5 IMP: -1 EW:1 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 473 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
& K & QJ9%4 & 62 & T83
*eveN LAQ8 *eveN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T964 S ~~~~~ 4054
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#13 » KJ63 2DW4 -130 Mean: 5DW-1 100 80 1 ||# 14 » QT85 3NE-2100 Mean: 3NW-3 150 40 1
v 763 3NW5 -660 -250 3DW3 110 40 1 v J6543 3NE3 -400 -10  3NE-2 100 30 7
¢ J2 Dif: 530 NS:3 3DW4 130 30 2 *3 Dif: 500 NS:3  3NW-1 50 20 1
» 9653 IMP: 11 EW:9 2DW4 130 30 5 » JT4 IMP: 11 EW:9 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 » J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 90 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ ¢82
S 1~~~~ 4K6 S ~~~~~ ¢KJ75
E ~4431 aAJ8742 E ~3~~1 aAQ82
W ~4431 W~3~~1
# 15 S 5DS-1-100 Mean: 5DS5 600 120 1 ||# 16 » AJ6 1NW-4 400 Mean: 1NW-5 500 7.0 1
v KJ972 3NN-2 -200 20  2NN2 120 40 2 v KJT84 INW-5500 190  4HN5 450 6.0 1
¢ T8543 Dif: 100 NS:-2 2HN2 110 40 1 + 963 Dif: -100 NS:5 1NW-4 400 50 1
» AK7 IMP: 3 EW:5 5DS-1 100 20 2 aJT IMP: -3 EW:-7 2DW-3 300 30 1
s J94 » QT765 5DN-1 100 20 4 ||a Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 ||v Q9 —_ v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIVEON L KT872 2HN3 140 20 1
N ~5~~2 w4 N ~~443 ¢ A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 7.0 1
W ~~~~~ W 2~~~+~
# 17 & K6 2CXN-1 -100 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SW4 -420 Mean: 6SW-2 100 11.0 1
v 84 3NW3 -400 -250 6DE-2 100 80 1 v 962 3NE3 -400 -430 3NE3 400 1.0 2
+ 985 Dif: 300 NS:4 5DE-1 50 7.0 1 + K865 Dif: -20 NS:0 4SW4 420 0.0 2
» 787642 IMP: 7 EW:4 2CXN-1  -100 4.0 1 » T854 IMP: -1 EW:-1 4SE4 420 0.0 2
» AJ832 T 1SXS-1 100 40 1 ||a KT7632 a A5 3NE4 430 0.0 1
v9 v AKT53 5DES5 400 -40 1 ||leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 ||e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||a 762 & AKQJ 6SW6 980 -11.0 1
®eveN , Q9754 ®*eveN L34
N ~~~~~ ¢QJ762 N ~~~~~ ¢ AJ875
S ~~~~~ oA S ~~~~~ o742
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#19 »QJ 4HE4 -620 Mean: 4SE-2 200 7.0 1 ||#20 » 72 4SW5 -650 Mean: 5SW-1 100 120 1
v QT7 4HE-1100 -80  4HXE-1 200 7.0 1 v6 5SW5 -650 -550 2HW6 230 80 1
¢ QT75 Dif: -720 NS:-11 4HE-1 100 50 4 + QJ87432 Dif: 0 NS:-3 A 00 2
» KQT4 IMP: -12 EW:-5 4CS-1 50 1.0 1 » 874 IMP: 0 EW:3 3NE4 630 20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 + AK5 3NES5 660 3.0 1
ry & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1 [[N ~~~ ~ ~ ¢ K98532
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# 11 & JT76 4HW-1 50 Mean: 4HW-1 50 30 M # J652 4HWS5 -450 Mean: 3HW4 170 6.0 1
v6 4HW-150 -40  3NE3 400 -80 1 v JT4 4HW4 -420 -400 3HE5 200 50 1
¢ J53 Dif: 0 NS:3 4HW4 420 90 2 ¢ 862 Dif: -30 NS:-2 4HW4 420 10 1
» AT865 IMP: 0 EW:-3 » KQ5 IMP: -1 EW:1 4HE4 420 1.0 2
& 9542 s K3 a73 4HW5 450 20 2
v A9754 v KJT8 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 * AJT
& K & QJ94 & T83
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N ~~~~~ ¢Q32 v7
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#13 » KJ63 3NW4 -630 Mean: 5DW-1 100 80 1 » QT85 3NE-1 50 Mean: 3NW-3 150 40 1
v 763 3DW4 -130 -250 3DW3 4110 40 1 v J6543 3NE3 -400 -10  3NE-2 100 30 7
¢ J2 Dif: -500 NS:-9 3DW4 130 3.0 2 *3 Dif: 450 NS:2 3NW-1 50 20 1
» 9653 IMP: -11 EW:-3 2DW4 130 30 5 a JT4 IMP: 10 EW:9 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 3.0 1 a J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 -600 -8.0 1 v A 3NE3 400 9.0 2
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E ~4431 aAJ8742 » AQ82
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# 15 S 3NN-2 -200 Mean: 5DS5 600 120 1 » AJ6 1NW-1 100 Mean: 1NW-5 500 7.0 1
v KJ972 2NN2120 -20  2NN2 120 40 2 v KJT84 1NW-3 300 190  4HN5 450 6.0 1
¢ T8543 Dif: -320 NS:-5 2HN2 110 40 1 ¢ 963 Dif: -200 NS:-3 1NW-4 400 50 1
» AK7 IMP: -8 EW:-4 5DS-1 100 20 2 aJT IMP: -5 EW:-3 2DW-3 300 30 1
s J94 & QT765 5DN-1 100 20 4 » 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 100 20 1 —_ v 753 2SN5 200 00 1
* KJ * 62 3NN-2 200 50 3 + QT74 2HN5 200 00 1
& QJT653 &9 & 854 3HS3 140 -20 1
¢V ®N ,AKS832 & KT872 2HN3 140 20 1
N ~5~~2 94 v A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 ¢ J85 3HN-1 50 6.0 1
E ~~~~~ a842 a A7 3HN-2 100 70 1
W ~~~~ ~
# 17 » K6 1SXS-1 -100 Mean: 4HE-4 200 100 1 s Q9 4SW6 -480 Mean: 6SW-2 100 110 1
v 84 3NW3 -400 -250 6DE-2 100 80 1 v 962 3NE4 -430 -430 3NE3 400 1.0 2
¢ 985 Dif: 300 NS:4 5DE-1 50 70 1 + K865 Dif: -50 NS:-2 4SwW4 420 00 2
» T87642 IMP: 7 EW:4 2CXN-1 100 40 1 » T854 IMP: -2 EW:0 4SE4 420 00 2
s AJ832 T 1SXS-1 100 40 1 ||a s A5 3NE4 430 0.0 1
v9 v AKT53 5DE5 400 -40 1 ||e v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 -40 2 ||e + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 || & AKQJ 6SW6 980 -11.0 1
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¢ QT75 Dif: 340 NS:7 4HE-1 100 50 4 «» QJ87432 Dif: 420 NS:8 A 00 2
» KQT4 IMP: 8 EW:2 4CS-1 50 1.0 1 » 874 IMP: 9 EW:3 3NE4 630 -20 1
& AT8742 s 53 4CN-1 50 1.0 1 ||a AJ » Q96 55W5 650 -3.0 2
v J93 v AK8654 3HE3 140 20 2 ||v AT + v QJ74 4SW5 650 -30 5
+ 8643 * KJ 2SE3 140 20 1 ||e 9 + AK5 3NE5 660 -3.0 1
'y & A75 1HE4 170 -3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 *eve s KT
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3 NS: ZEB7E S1EEERC) -15 1 NS: =3}k1E 5REFH(BIO) 0 VP:| 5.20 14.80| Total VP: 21.17 Rank:
EW: 5% BEIEEE0) 0 EW: $E{_# MEFR(BAC) 15 IMP:| 17 32 7
N _ -
# 11 » JT76 4HW-1 -50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE5 450 Mean: 3HW4 170 6.0 1
v6 4HW-1-50 -40  3NE3 400 80 1 v JT4 4HE4 420 -400  3HE5 200 5.0 1
¢ J53 Dif: 0 NS:3 4HW4 420 90 2 + 862 Dif: 30 NS:-1  4HW4 420 1.0 1
» AT865 IMP: 0 EW:-3 » KQ5 IMP: 1 EW:2 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 473 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
& K & QJ9%4 & 62 & T83
*eveN LAQ8 *eveN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T964 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 2DW4 130 Mean: 5DW-1 100 80 1 ||# 14 » QT85 3NE-2-100 Mean: 3NW-3 150 40 1
v 763 3NW5 660 -250 3DW3 110 40 1 v J6543 3NE3 400 -10  3NE-2 100 30 7
¢ J2 Dif: -530 NS:-9 3DW4 130 30 2 *3 Dif: -500 NS:-9 3NW-1 50 20 1
» 9653 IMP: -11 EW:-3 2DW4 130 30 5 » JT4 IMP: -11 EW:-3 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 » J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 90 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ 982
S 1~~~~ ¢K6 S ~~~~~ ¢ KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W ~3~~1
# 15 S 5DS-1100 Mean: 5DS5 600 120 1 ||# 16 » AJ6 1NW-4 -400 Mean: 1NW-5 500 7.0 1
v KJ972 3NN-2200 -20  2NN2 120 40 2 v KJT84 1NW-5 -500 190  4HN5 450 6.0 1
¢ T8543 Dif: -100 NS:-5 2HN2 110 40 1 + 963 Dif: 100 NS:7 1NW-4 400 50 1
» AK7 IMP: -3 EW:2 5DS-1 100 20 2 aJT IMP: 3 EW:-5 2DW-3 300 30 1
s J94 » QT765 5DN-1 100 20 4 ||a Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 ||v Q9 —_ v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIVEON L KT872 2HN3 140 20 1
N ~5~~2 w4 N ~~443 ¢ A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 7.0 1
W ~~~~~ W 2~~~+~
# 17 & K6 2CXN-1100 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SW4 420 Mean: 6SW-2 100 11.0 1
v 84 3NW3 400 -250 6DE-2 100 80 1 v 962 3NE3 400 -430 3NE3 400 1.0 2
+ 985 Dif: -300 NS:-4 5DE-1 50 7.0 1 + K865 Dif: 20 NS:1  4sw4 420 0.0 2
» 787642 IMP: -7 EW:-4 2CXN-1  -100 4.0 1 » T854 IMP: 1 EW:0 4SE4 420 0.0 2
» AJ832 T 1SXS-1 100 40 1 ||a KT7632 a A5 3NE4 430 0.0 1
v9 v AKT53 5DES5 400 -40 1 ||leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 ||e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||a 762 & AKQJ 6SW6 980 -11.0 1
®eveN , Q9754 ®*eveN L34
N ~~~~~ ¢QJ762 N ~~~~~ ¢ AJ875
S ~~~~~ oA S ~~~~~ o742
E ~5~~3 akK5 E 5~~44 493
W~5~~3 W 5~~44
#19 »QJ 4HE4 620 Mean: 4SE-2 200 7.0 1 ||#20 » 72 4SW5 650 Mean: 5SW-1 100 120 1
v QT7 4HE-1-100 -80  4HXE-1 200 7.0 1 v6 5SW5 650 -550 2HW6 230 80 1
¢ QT75 Dif: 720 NS:5 4HE-1 100 50 4 + QJ87432 Dif: 0 NS:-3 A 00 2
» KQT4 IMP: 12 EW:11 4CS-1 50 1.0 1 » 874 IMP: 0 EW:3 3NE4 630 20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 + AK5 3NES5 660 3.0 1
ry & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1 [[N ~~~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ oT6
E ~~43 ~ 4J98632 E 5~~55 a&AJ9
W ~~43~ W 5~~55
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#1: 13 751 (36.59) #2: 6 E1(31.94) #3: 8 11178(26.13)
4 NS: ol & Z5£EEH0) -31 7 NS: Z7E REZ(BAC) 4 VP:| 2.49 17.51| Total VP: 6.52 Rank:
EW: PhER #RA0EEAC) 4 EW: ZjkF 2Bi#SN(FO) 31 IMP:| 11 : 39 14
N -
# 11 » JT76 4HW-1 50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE5 -450 Mean: 3HW4 170 6.0 1
v6 4HW-150 -40  3NE3 400 80 1 v JT4 4HE5 -450 -400  3HES 200 50 1
¢ J53 Dif: 0 NS:3 4HWA4 420 90 2 ¢ 862 Dif: 0 NS:-2 4HW4 420 10 1
» AT865 IMP: 0 EW:-3 » KQ5 IMP: 0 EW:2 4HE4 420 1.0 2
# 9542 s K3 & AKS8 a73 4HW5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
s K & QJ9%4 & 62 & T83
*eveN LAQ8 ®eveN L QT94
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T964 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 3NW4 -630 Mean: 5DW-1 100 80 1 ||# 14 » QT85 3NE-2100 Mean: 3NW-3 150 40 1
v 763 5DW-1100 -250 3DW3 4110 40 1 v J6543 3NE-2100 -10  3NE-2 100 30 7
¢ J2 Dif: -730 NS:-9 3DW4 130 3.0 2 *3 Dif: 0 NS:3  3NW-1 50 20 1
» 9653 IMP: -12 EW:-8 2DW4 130 30 5 a JT4 IMP: 0 EW:-3 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 a J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 v A 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 90 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ 982
S 1~~~~ ¢K6 S ~~~~~ ¢ KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W ~3~~1
# 15 S 3NN-2 -200 Mean: 5DS5 600 120 1 ||# 16 » AJ6 4HN5 450 Mean: 1NW-5 500 7.0 1
v KJ972 5DS-1-100 -20  2NN2 120 40 2 v KJT84 3HN-1-50 190  4HN5 450 6.0 1
¢ T8543 Dif: -100 NS:-5 2HN2 110 40 1 ¢ 963 Dif: 500 NS:6 1NW-4 400 50 1
» AK7 IMP: -3 EW:2 5DS-1 100 20 2 aJT IMP: 11 EW:6 2DW-3 300 30 1
a J94 4 QT765 5DN-1 100 20 4 ||s Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 ||v Q9 —_— v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIVEN A KT872 2HN3 140 20 1
N ~5~~2 ¢4 N ~~443 ¢ A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 70 1
W ~~~~~ W 2~~~~
#17 » K6 3NW4 -430 Mean: 4HE-4 200 100 1 ||# 18 s Q9 6SW6 -980 Mean: 6SW-2 100 110 1
v 84 3NW4 -430 -250 6DE-2 100 80 1 v 962 4SW6 -480 -430  3NE3 400 1.0 2
¢ 985 Dif: 0 NS:-5 5DE-1 50 7.0 1 + K865 Dif: -500 NS:-11 4SW4 420 0.0 2
a T87642 IMP: 0 EW:5 2CXN-1  -100 4.0 1 » T854 IMP: -11 EW:2 4SE4 420 00 2
& AJ832 T 1SXS-1 100 40 1 ||a KT7632 s A5 3NE4 430 0.0 1
v9 v AKT53 5DE5 400 -40 1 ||leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 ||e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||& 762 & AKQJ 6SW6 980 -11.0 1
®eveN , Q9754 ®IVveN o J84
N ~~~~~ ¢QJ762 N ~~~~~ ¢ AJ875
S ~~~~~ 4A S ~~~~~ o742
E ~5~~3 akK5 E 5~~44 493
W~5~~3 W 5~~44
#19 » QJ 4SE5 -650 Mean: 4SE-2 200 7.0 1 ||#20 » 72 A Mean: 5SW-1 100 120 1
v QT7 4HXE-1200 -80  4HXE-1 200 7.0 1 v 6 A -550 2HW6 230 8.0 1
¢ QT75 Dif: -850 NS:-11 4HE-1 100 50 4 +» QJ87432 Dif: 0 NS:0 A 00 2
» KQT4 IMP: -13 EW:-7 4CS-1 50 1.0 1 » 874 IMP: 0 EW:0 3NE4 630 -20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8B543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 -30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 ¢ AK5 3NE5 660 3.0 1
'y & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 -11.0 1 ||N ~ ~ ~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ 4T6
E ~~ 43~ 4J98632 E 5~~55 aAJ9
W ~~43~ W5~~55
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#1: 13 751 (36.59) #2: 6 E1(31.94) #3: 8 11178(26.13)
5 NS: BE5F B B EREIC) -6 2 NS: EEZ RENE(BAO) 3 VP:| 7.49 12.51| Total VP: 11.52 Rank:
EW: 81505 BEEBEEO) -3 EW: 3B SAIEZ(BAC) IMP:| 27 : 34 12
N _ __
# 11 » JT76 4HW-1 -50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HW5 450 Mean: 3HW4 170 6.0 1
v6 4HW-1-50 -40  3NE3 400 80 1 v JT4 4HW4 420 -400  3HES 200 5.0 1
¢ J53 Dif: 0 NS:3 4HW4 420 90 2 + 862 Dif: 30 NS:-1  4HW4 420 1.0 1
» AT865 IMP: 0 EW:-3 » KQ5 IMP: 1 EW:2 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 473 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
s K & QJ9%4 & 62 & T83
*eveN LAQ8 *eveN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T94 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 3NW4 630 Mean: 5DW-1 100 80 1 ||# 14 » QT85 3NE-1-50 Mean: 3NW-3 150 40 1
v 763 3DW4 130 -250 3DW3 110 40 1 v J6543 3NE3 400 -10  3NE-2 100 30 7
¢ J2 Dif: 500 NS:3 3DW4 130 30 2 *3 Dif: -450 NS:-9 3NW-1 50 20 1
» 9653 IMP: 11 EW:9 2DW4 130 30 5 » JT4 IMP: -10 EW:-2 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 » J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 90 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ 982
S 1~~~~ 4K6 S ~~~~~ ¢KJ75
E ~4431 aAJ8742 E ~3~~1 aAQ82
W ~4431 W ~3~~1
# 15 S 3NN-2 200 Mean: 5DS5 600 120 1 ||# 16 » AJ6 1NW-1 -100 Mean: 1NW-5 500 7.0 1
v KJ972 2NN2 120 -20  2NN2 120 40 2 v KJT84 1NW-3 -300 190  4HN5 450 6.0 1
¢ T8543 Dif: 320 NS:4 2HN2 110 40 1 + 963 Dif: 200 NS:3 1NW-4 400 50 1
» AK7 IMP: 8 EW:5 5DS-1 100 20 2 aJT IMP: 5 EW:3 2DW-3 300 30 1
s J94 » QT765 5DN-1 100 20 4 ||a Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 ||v Q9 —_ v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIVEON L KT872 2HN3 140 20 1
N ~5~~2 w4 N ~~443 ¢ A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 7.0 1
W ~~~~~ W 2~~~+~
# 17 & K6 1SXS-1 100 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SW6 480 Mean: 6SW-2 100 11.0 1
v 84 3NW3 400 -250 6DE-2 100 80 1 v 962 3NE4 430 -430 3NE3 400 1.0 2
+ 985 Dif: -300 NS:-4 5DE-1 50 7.0 1 + K865 Dif: 50 NS:0 4swa4 420 0.0 2
» 787642 IMP: -7 EW:-4 2CXN-1  -100 4.0 1 » T854 IMP: 2 EW:2 4SE4 420 0.0 2
» AJ832 T 1SXS-1 100 40 1 ||a KT7632 s A5 3NE4 430 0.0 1
v9 v AKT53 5DES5 400 -40 1 ||leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 ||e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||a 762 & AKQJ 6SW6 980 -11.0 1
®eveN , Q9754 ®*eveN L34
N ~~~~~ ¢ QJ762 N ~~~~~ ¢ AJ875
S ~~~~~ oA S ~~~~~ o742
E ~5~~3 akK5 E 5~~44 493
W~5~~3 W 5~~44
#19 »QJ 4SE-2 -200 Mean: 4SE-2 200 7.0 1 ||#20 » 72 2HW6 230 Mean: 5SW-1 100 120 1
v QT7 3HE3 140 -80  4HXE-1 200 7.0 1 v6 4SW5 650 -550 2HW6 230 80 1
¢ QT75 Dif: -340 NS:-2 4HE-1 100 50 4 + QJ87432 Dif: -420 NS:-3 A 00 2
» KQT4 IMP: -8 EW:-7 4CS-1 50 1.0 1 » 874 IMP: -9 EW:8 3NE4 630 20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 + AK5 3NES5 660 3.0 1
ry & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1 [[N ~~~ ~ ~ ¢ K98532
S 3 ~~~~ oA92 S ~1~~~ oT6
E ~~43 ~ 4J98632 E 5~~55 a&AJ9
W ~~43~ W 5~~55




o 5% 2H ﬁh 2 ——
2 114 £ § iﬁ]#ﬁ’ﬁm% Bt e ==> R2 2
#1: 13 F21B(36.59) #2: 6 E#7(31.94) #3: 8 IJJ/i(26 13)
6 NS: #1841 BESEE(FH0) 13 9 NS: 283750 EFHI(BAC) -1( VP:| 15.97 : 4.03 | Total VP: 31.94 Rank:
EW: ¥k #5EAC) 10 EW: RXIg ER#(F0) 1 IMP:| 34 14 2
N _ __
# 11 » JT76 4HW-1 50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HWS5 -450 Mean: 3HW4 170 6.0 1
v6 4HW4 -420 -40  3NE3 400 8.0 1 v JT4 3HE5-200 -400 3HE5 200 50 1
¢ J53 Dif: 470 NS:3  4HW4 420 90 2 ¢ 862 Dif: -250 NS:2 4HW4 420 1.0 1
» AT865 IMP: 10 EW:9 » KQ5 IMP: -6 EW:-5 4HE4 420 1.0 2
4 9542 4 K3 # AKS8 473 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
& K & QJ9%4 & 62 & T83
*+¢veN LAQS ®e¢veN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T964 S ~~~~~ 4Q54
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 2DW4 -130 Mean: 5DW-1 100 80 1 ||#14 » QT85 3NE-2100 Mean: 3NW-3 150 40 1
v 763 2DW4 -130 250 3DW3 410 40 1 v J6543 3NE-2100 -10  3NE-2 100 30 7
¢ J2 Dif: 0 Ns:3 3DwW4 130 30 2 *3 Dif: 0 NS:3 3NW-1 50 20 1
» 9653 IMP: 0 EW:-3 2DW4 130 30 5 » JT4 IMP: 0 EW:-3 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 8 J74 3NW3 400 90 1
v AK9 v T854 3NW3 600 -80 1 ||w KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 -9.0 2 ||a 93 & K765
®IVeN 74 ®IVeN 062
N ~~~~~ ¢QJ2 N ~~~~~ ¢82
S 1~~~~ ¢K6 S ~~~~~ ¢ KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W ~3~~1
#15 » 5DN-1-100 Mean: 5DS5 600 120 1 ||# 16 » AJ6 3HS3 140 Mean: 1NW-5 500 7.0 1
v KJ972 2NN2120 -20  2NN2 120 40 2 v KJT84 3HN-2-100 190  4HN5 450 60 1
+ T8543 Dif: -220 NS:-2 2HN2 10 40 1 + 963 Dif: 240 NS:-2 1NW-4 400 50 1
» AK7 IMP: -6 EW:-4 5DS-1 100 20 2 aJT IMP: 6 EW:7 2DW-3 300 30 1
s J94 4 QT765 5DN-1 100 20 4 ||a Q9 » 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 || Q9 _— v 753 2SN5 200 00 1
¢ KJ ¢ 62 3NN-2 200 50 3 ||e AK2 ¢+ QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V ®N ,AKS32 ®¢VSN L KT872 2HN3 140 20 1
N ~5~~2 94 N ~~443 ¢ A62 1NW-1 100 3.0 3
S ~5~~2 4AQ97 S ~~443 4J85 3HN-1 50 -6.0 1
E ~~~~~ a842 E 2~~~~ aA7 3HN-2 100 70 1
W ~~~~~ W 2~~~+~
# 17 & K6 6DE-2 100 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SE4 -420 Mean: 6SW-2 100 11.0 1
v 84 3NW4 -430 -250 6DE-2 100 80 1 v 962 3NE3 -400 -430 3NE3 400 1.0 2
+ 985 Dif: 530 NS:8 5DE-1 50 7.0 1 + K865 Dif: -20 NS:0 4Swa4 420 00 2
» 187642 IMP: 11 EW:5 2CXN-1 100 4.0 1 » T854 IMP: -1 EW:-1 4SE4 420 00 2
# AJ832 T 1SXS-1 <100 4.0 1 || KT7632 4 A5 3NE4 430 00 1
v9 v AKT53 5DE5 400 40 1|]leQ v KT43 4sW5 450 1.0 3
* KJT6 + Q7432 3NW3 400 40 2 [|e AJT + Q93 4sW6 480 20 2
» QJ9 » A3 3NW4 430 50 6 ||a 762 » AKQJ 6SW6 980 -11.0 1
®eVeN L Q9754 ®eveN ,J84
N ~~~~~ ¢ QJ762 N ~~~~~ ¢ AJ875
S ~~~~~ 4A S ~~~~~ o742
E ~5~~3 aK5 E 5~~44 493
W~5~~3 W5~~44
#19 »QJ 4HE-1100 Mean: 4SE-2 200 7.0 1 [|#20 a72 4SW5 -650 Mean: 5SW-1 100 120 1
v QT7 1HE4 -170 -80  4HXE-1 200 7.0 1 v6 3NE4 -630 -550 2HW6 230 80 1
+ QT75 Dif: 270 NS:5 4HE-1 100 50 4 + QJ87432 Dif: -20 NS:-3 A 00 2
» KQT4 IMP: 7 EW:3 4CS-1 50 1.0 1 a 874 IMP: -1 EW:2 3NE4 630 20 1
4 AT8742 4 53 4CN-1 50 1.0 1 ||a AJ8B543 » Q96 5SW5 650 -3.0 2
v J93 v AK8654 3HE3 140 20 2 ||w AT + v QJ74 4sW5 650 30 5
* 8643 ¢ KJ 2SE3 140 20 1|]|e 9 + AK5 3NE5 660 3.0 1
& & A75 1HE4 4170 30 1 ||s KQ65 & T32 4sW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1||N ~~~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ oT6
E ~~4 3~ aJ98632 E 5~~55 aAJ9
W ~~43-~ W5~~55




X AN 33z 4 R
2 114 £ 3 2FABEHRE L2 ==> R2 2
L v L
Ve V- \\
#1: 13 751 (36.59) #2: 6 E1(31.94) #3: 8 11178(26.13)
7 NS: BA4TE BEEEEIC) 4 4 NS: %5 Z=5{E(F0) -31 VP:| 17.51 2.49 | Total VP: 25.66 Rank:
EW: % E Zhgsl(EF0) 31 EW: MR Hs #diE(FC) -4 IMP:| 39 : 11 4
N - -
# 11 » JT76 4HW-1 -50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE5 450 Mean: 3HW4 170 6.0 1
v6 4HW-1-50 -40  3NE3 400 80 1 v JT4 4HE5 450 -400 3HES 200 50 1
¢ J53 Dif: 0 NS:3 4HWA4 420 90 2 ¢ 862 Dif: 0 NS:-2 4HW4 420 10 1
» AT865 IMP: 0 EW:-3 » KQ5 IMP: 0 EW:2 4HE4 420 1.0 2
# 9542 s K3 & AKS8 a73 4HW5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 ¢ AJT
s K & QJ9%4 & 62 & T83
*eveN LAQ8 ®eveN L QT94
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T964 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 3NW4 630 Mean: 5DW-1 100 80 1 ||# 14 » QT85 3NE-2 -100 Mean: 3NW-3 150 40 1
v 763 5DW-1-100 -250 3DW3 4110 40 1 v J6543 3NE-2-100 -10  3NE-2 100 30 7
¢ J2 Dif: 730 NsS:8 3DW4 130 3.0 2 *3 Dif: 0 NS:3  3NW-1 50 20 1
» 9653 IMP: 12 EW:9 2DW4 130 30 5 a JT4 IMP: 0 EW:-3 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 a J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 v A 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 90 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ 982
S 1~~~~ ¢K6 S ~~~~~ ¢ KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W ~3~~1
# 15 S 3NN-2 200 Mean: 5DS5 600 120 1 ||# 16 » AJ6 4HN5 -450 Mean: 1NW-5 500 7.0 1
v KJ972 5DS-1100 -20  2NN2 120 40 2 v KJT84 3HN-150 190  4HN5 450 6.0 1
¢ T8543 Dif: 100 NS:-2 2HN2 110 40 1 ¢ 963 Dif: -500 NS:-6 1NW-4 400 50 1
» AK7 IMP: 3 EW:5 5DS-1 100 20 2 aJT IMP: -11 EW:-6 2DW-3 300 30 1
a J94 4 QT765 5DN-1 100 20 4 ||s Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 ||v Q9 —_— v 753 2SN5 200 00 1
* KJ * 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIVEON L KT872 2HN3 140 20 1
N ~5~~2 ¢4 N ~~443 ¢ A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 70 1
W ~~~~~ W 2~~~~
# 17 & K6 3NW4 430 Mean: 4HE-4 200 100 1 [|# 18 » Q9 6SW6 980 Mean: 6SW-2 100 11.0 1
v 84 3NW4 430 -250 6DE-2 100 80 1 v 962 4SW6 480 -430 3NE3 400 1.0 2
¢ 985 Dif: 0 NS:-5 5DE-1 50 7.0 1 + K865 Dif: 500 NS:-2 4sw4 420 00 2
a T87642 IMP: 0 EW:5 2CXN-1  -100 4.0 1 » T854 IMP: 11 EW:11 4SE4 420 00 2
& AJ832 T 1SXS-1 100 40 1 ||a KT7632 s A5 3NE4 430 0.0 1
v9 v AKT53 5DE5 400 -40 1 ||leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 ||e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||& 762 & AKQJ 6SW6 980 -11.0 1
®eveN , Q9754 ®IVveN o J84
N ~~~~~ ¢QJ762 N ~~~~~ ¢ AJ875
S ~~~~~ 4A S ~~~~~ o742
E ~5~~3 akK5 E 5~~44 493
W~5~~3 W 5~~44
#19 »QJ 4SE5 650 Mean: 4SE-2 200 7.0 1 ||#20 » 72 A Mean: 5SW-1 100 120 1
v QT7 4HXE-1 -200 -80  4HXE-1 200 7.0 1 v 6 A -550 2HW6 230 8.0 1
¢ QT75 Dif: 850 NS:7 4HE-1 100 50 4 +» QJ87432 Dif: 0 NS:0 A 00 2
» KQT4 IMP: 13 EW:11 4CS-1 50 1.0 1 » 874 IMP: 0 EW:0 3NE4 630 -20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8B543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 -30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 ¢ AK5 3NE5 660 3.0 1
'y & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 -11.0 1 ||N ~ ~ ~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ 47T6
E ~~ 43~ 4J98632 E 5~~55 aAJ9
W ~~43~ W5~~55




G- <
2 114E¢*E£E€]#ﬁﬁﬁ'% hlle == R2 2
#1: 13 2B (36.59) #2: 6 EH#(31.94) #3: 8 IJJ/i(26 13)
8 NS: #5275 &L GHO) 26 1 1 NS: FFHIEZ FEEZES)(BAg VP:| 14.28 : 5.72 | Total VP: 26.13 Rank:
EW: MiEE E=25EEA0) -8 EW: RHET SHET(F( IMP:| 23 10 3
N _
# 11 » JT76 4HW-1 50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 3HW4 -170 Mean: 3HW4 170 6.0 1
v6 4HW-150 -40  3NE3 400 80 1 v JT4 4HES5 -450 -400  3HE5 200 5.0 1
¢ J53 Dif: 0 NS:3 4HW4 420 90 2 + 862 Dif: 280 NS:6 4HW4 420 1.0 1
» AT865 IMP: 0 EW:-3 » KQ5 IMP: 7 EW:2 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 a73 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
s K & QJ94 & 62 & T83
*eveN LAQ8 *eveN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T94 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 2DW4 -130 Mean: 5DW-1 100 80 1 ||# 14 » QT85 3NW-150 Mean: 3NW-3 150 40 1
v 763 3DW4 -130 250 3DW3 110 40 1 v J6543 3NE-150 -10  3NE-2 100 30 7
¢ J2 Dif: 0 NS:3 3DW4 130 30 2 *3 Dif: 0 NS:2 3NW-1 50 20 1
» 9653 IMP: 0 EW:-3 2DW4 130 30 5 » JT4 IMP: 0 EW:-2 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 » J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 -9.0 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ ¢82
S 1~~~~ ¢K6 S ~~~~~ ¢ KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W ~3~~1
# 15 S 2HN2 110 Mean: 5DS5 600 120 1 ||# 16 » AJ6 2HN5 200 Mean: 1NW-5 500 7.0 1
v KJ972 5DS5600 -20 2NN2 120 40 2 v KJT84 2SN5200 190  4HN5 450 6.0 1
¢ T8543 Dif: -490 NS:4 2HN2 110 40 1 + 963 Dif: 0 NS:0 1NW-4 400 50 1
» AK7 IMP: -10 EW:-12 5DS-1 100 20 2 aJT IMP: 0 EW:0 2DW-3 300 30 1
s J94 » QT765 5DN-1 100 20 4 ||a Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 ||v Q9 —_ v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIVEN A KT872 2HN3 140 20 1
N ~5~~2 o4 N ~~443 v A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 7.0 1
W ~~~~~ W 2~~~+~
#17 » K6 4HE-4 200 Mean: 4HE-4 200 100 1 ||# 18 s Q9 4SE4 -420 Mean: 6SW-2 100 110 1
v 84 5DE5 -400 -250  6DE-2 100 80 1 v 962 4SW5 -450 -430  3NE3 400 1.0 2
+ 985 Dif: 600 NS:10 5DE-1 50 7.0 1 + K865 Dif: 30 NS:0 4swa4 420 0.0 2
a T87642 IMP: 12 EW:4 2CXN-1  -100 4.0 1 » T854 IMP: 1 EW:1 4SE4 420 0.0 2
» AJ832 T 1SXS-1 100 40 1 ||a KT7632 s A5 3NE4 430 0.0 1
v9 v AKT53 5DES5 400 -40 1 ||leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 ||e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||& 762 & AKQJ 6SW6 980 -11.0 1
®eveN , Q9754 ®*eveN L34
N ~~~~~ ¢ QJ762 N ~~~~~ ¢ AJB75
S ~~~~~ oA S ~~~~~ o742
E ~5~~3 akK5 E 5~~44 493
W~5~~3 W 5~~44
#19 » QJ 4CN-1-50 Mean: 4SE-2 200 7.0 1 ||#20 » 72 4SW5 -650 Mean: 5SW-1 100 120 1
v QT7 3HE3 -140 -80  4HXE-1 200 7.0 1 v6 5SW5 -650 -550 2HW6 230 80 1
¢ QT75 Dif: 90 NS:1  4HE-1 100 50 4 + QJ87432 Dif: 0 NS:-3 A 00 2
» KQT4 IMP: 3 EW:2 4CS-1 50 1.0 1 » 874 IMP: 0 EW:3 3NE4 630 20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 ¢ AK5 3NES5 660 3.0 1
ry & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1 [[N ~~~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ oT6
E ~~43 ~ 4J98632 E 5~~55 a&AJ9
W ~~43~ W 5~~55




X AN 33z 4 R
2 114 £ 3 2FABEHRE L2 ==> R2 2
L v L
Ve V. \\
#1: 13 751 (36.59) #2: 6 E1(31.94) #3: 8 11178(26.13)
9 NS: FRI7FH ERFEEIEAC) -10 6 NS: S128l BEXF(BAO) 13| VP:| 4.03 15.97 | Total VP: 8.06 Rank:
EW: iERi& = 5$9(BI0) -13 EW: 82X #FF#(BAC) 10 IMP:| 14 34 13
N _ __
# 11 » JT76 4HW-1 -50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HW5 450 Mean: 3HW4 170 6.0 1
v6 4HW4 420 -40  3NE3 400 80 1 v JT4 3HE5 200 -400 3HE5 200 5.0 1
¢ J53 Dif: -470 NS:-9 4HW4 420 90 2 + 862 Dif: 250 NS:5 4HW4 420 1.0 1
» AT865 IMP: -10 EW:-3 » KQ5 IMP: 6 EW:2 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 473 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
& K & QJ9%4 & 62 & T83
*eveN LAQ8 *eveN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T964 S ~~~~~ 4Q54
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 2DW4 130 Mean: 5DW-1 100 80 1 ||# 14 » QT85 3NE-2-100 Mean: 3NW-3 150 40 1
v 763 2DW4 130 -250 3DW3 110 40 1 v J6543 3NE-2-100 -10  3NE-2 100 30 7
¢ J2 Dif: 0 NS:3 3DW4 130 30 2 *3 Dif: 0 NS:3 3NW-1 50 20 1
» 9653 IMP: 0 EW:-3 2DW4 130 30 5 » JT4 IMP: 0 EW:-3 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 » J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 90 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ ¢82
S 1~~~~ 4K6 S ~~~~~ ¢KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W~3~~1
# 15 S 5DN-1 100 Mean: 5DS5 600 120 1 ||# 16 » AJ6 3HS3 -140 Mean: 1NW-5 500 7.0 1
v KJ972 2NN2 120 -20  2NN2 120 40 2 v KJT84 3HN-2100 190  4HN5 450 6.0 1
¢ T8543 Dif: 220 NS:4 2HN2 110 40 1 + 963 Dif: -240 NS:-7 1NW-4 400 50 1
» AK7 IMP: 6 EW:2 5DS-1 100 20 2 aJT IMP: -6 EW:2 2DW-3 300 30 1
s J94 » QT765 5DN-1 100 20 4 ||a Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 ||v Q9 —_ v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIVEON L KT872 2HN3 140 20 1
N ~5~~2 w4 N ~~443 ¢ A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 7.0 1
W ~~~~~ W 2~~~+~
# 17 & K6 6DE-2 -100 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SE4 420 Mean: 6SW-2 100 11.0 1
v 84 3NW4 430 -250 6DE-2 100 80 1 v 962 3NE3 400 -430 3NE3 400 1.0 2
+ 985 Dif: -530 NS:-5 5DE-1 50 7.0 1 + K865 Dif: 20 NS:1  4sw4 420 0.0 2
& T87642 IMP: -11 EW:-8 2CXN-1  -100 4.0 1 » T854 IMP: 1 EW:0 4SE4 420 0.0 2
» AJ832 T 1SXS-1 100 40 1 ||a KT7632 s A5 3NE4 430 0.0 1
v9 v AKT53 5DES5 400 -40 1 ||leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 ||e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||a 762 & AKQJ 6SW6 980 -11.0 1
®eveN , Q9754 ®*eveN L34
N ~~~~~ ¢ QJ762 N ~~~~~ ¢ AJ875
S ~~~~~ 4A S ~~~~~ o742
E ~5~~3 aK5 E 5~~44 493
W~5~~3 W 5~~44
#19 »QJ 4HE-1 -100 Mean: 4SE-2 200 7.0 1 ||#20 » 72 4SW5 650 Mean: 5SW-1 100 120 1
v QT7 1HE4170 -80  4HXE-1 200 7.0 1 v6 3NE4 630 -550 2HW6 230 80 1
¢ QT75 Dif: -270 NS:-3 4HE-1 100 50 4 + QJ87432 Dif: 20 NS:2 A 00 2
» KQT4 IMP: -7 EW:-5 4CS-1 50 1.0 1 » 874 IMP: 1 EW:3 3NE4 630 20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 + AK5 3NES5 660 3.0 1
ry & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1 [[N ~~~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ 47T6
E ~~ 43~ 4J98632 E 5~~55 aAJ9
W ~~43-~ W5~~55




1142 £ 3 2RBERE B

d 4

— AV

==> R2

#1: 13 F2fE(36.59) #2: 6 EH#(31.94) #3: 8 111¥8(26.13)

v 4

rtrra e

SmnzZz +e<cd
wwill 2

*
-
©

& AT8742
v J93
+ 8643

Smunz »
1l Www

1

4
4

[ERER IR |

1N 2

3
3

*P4¢VeN

NS: #4548 BT (BHO) -26 1 3 NS: 1555 BREE(BAC) 38 VP:| 0.00 20.00| Total VP: 15.97 Rank:
EW: 5RE# AEHEEEAC) -38 EW: RiE5 $BHERE(O) 26 IMP:| 4 ;62 10
e ——————
» JT76 3NE3 -400 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE5 -450 Mean: 3HW4 170 6.0 1
v6 4HW-150 -40  3NE3 400 -80 1 v JT4 4HE5 -450 -400 3HE5 200 50 1
¢ J53 Dif: -450 NS:-8 4HW4 420 90 2 ¢ 862 Dif: 0 NS:-2 4HW4 420 10 1
» AT865 IMP: -10 EW:-3 » KQ5 IMP: 0 EW:2 4HE4 420 1.0 2
s K3 & AK8 s 73 4HW5 450 20 2
v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ K72 ¢ K973 ¢ AJT
& QJ9%4 & 62 & T83
» AQ8 ®eveON L, QT4
v Q32 N ~~~~~ o7
¢ T964 S ~~~~~ 4054
a 732 E ~55~2 & AJ974
W ~55~2
» KJ63 1NW3 -150 Mean: 5DW-1 100 80 1 [|# 14 » QT85 3NW3 -400 Mean: 3NW-3 150 40 1
v 763 2DW4 -130 -250 3DW3 4110 40 1 v J6543 3NE-2100 -10  3NE-2 100 30 7
¢ J2 Dif: 20 NS:3 3DW4 130 3.0 2 *3 Dif: -500 NS:-9 3NW-1 50 20 1
» 9653 IMP: -1 EW:-3 2DW4 130 30 5 a JT4 IMP: -11 EW:-3 3NE-1 50 20 2
[ » A982 1NW3 150 30 1 ||a AK3 a J74 3NW3 400 9.0 1
v T854 3NW3 -600 -8.0 1 ||v KQT97 v A 3NE3 400 9.0 2
+ + Q873 W5 660 9.0 1 ||e Q86 + AT942
T 3NW4 630 90 2 ||s 93 & K765
aT74 PIVEN , 962
v QJ2 N ~~~~~ 982
¢ K6 S ~~~~~ ¢ KJ75
» AJ8742 E ~3~~1 & AQ82
W ~3~~1
'S 5DN-1-100 Mean: 5DS5 600 120 1 ||# 16 & AJ6 2DW-3 300 Mean: 1NW-5 500 7.0 1
v KJ972 5DN-1-100 -20  2NN2 120 40 2 v KJT84 2HN3 140 190  4HN5 450 6.0 1
¢ T8543 Dif: 0 NS:-2 2HN2 110 40 1 ¢ 963 Dif: 160 NS:3 1NW-4 400 50 1
» AK7 IMP: 0 EW:2 5DS-1 100 20 2 aJT IMP: 4 EW:2 2DW-3 300 30 1
 QT765 5DN-1 100 20 4 ||s Q9 » 543 1NW-3 300 30 1
v QT863 3NN-1 100 20 1 ||v Q9 —_— v 753 2SN5 200 00 1
¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
&9 & KQ9632 & 854 3HS3 140 -20 1
» AK832 PIVEN , KT872 2HN3 140 20 1
vd N ~~443 ¢ A62 1NW-1 100 30 3
» AQ97 S ~~443 4J85 3HN-1 50 6.0 1
a 842 E 2~~~~ aA7 3HN-2 100 70 1
W2-~-~~-~
& K6 3NW4 -430 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SW5 -450 Mean: 6SW-2 100 11.0 1
v 84 5DE-150 -250 6DE-2 100 80 1 v 962 6SW-2100 -430 3NE3 400 1.0 2
¢ 985 Dif: -480 NS:-5 5DE-1 50 70 1 + K865 Dif: -550 NS:-1 4SW4 420 0.0 2
» T87642 IMP: -10 EW:-7 2CXN-1 100 40 1 » T854 IMP: -11 EW:-11 4SE4 420 00 2
T 1SXS-1 100 40 1 ||a KT7632 & A5 3NE4 430 0.0 1
v AKT53 5DE5 400 -40 1 ||eQ v KT43 4SW5 450 1.0 3
+ Q7432 3NW3 400  -40 2 ||e AJT + Q93 4SW6 480 20 2
& A3 3NW4 430 5.0 6 ||& 762 & AKQJ 6SW6 980 -11.0 1
» Q9754 ®IVveN o J84
v QJ762 N ~~~~~ ¢ AJ875
*A S ~~~~~ o742
A K5 E 5~~44 493
W 5~~44
s QJ 2SE3 -140 Mean: 4SE-2 200 7.0 1 |]|#20 a 72 4SW5 -650 Mean: 5SW-1 100 120 1
v QT7 4HE-1100 -80  4HXE-1 200 7.0 1 v6 5SW-1100 -550 2HW6 230 8.0 1
¢ QT75 Dif: -240 NS:-2 4HE-1 100 50 4 +» QJ87432 Dif: -750 NS:-3 A 00 2
» KQT4 IMP: -6 EW:-5 4CS-1 50 1.0 1 » 874 IMP: -13 EW:-12 3NE4 630 -20 1
4 53 4CN-1 50 1.0 1 || AJ8B543 » Q96 5SW5 650 -3.0 2
v AK8654 3HE3 140 20 2 ||v AT + v QJ74 4SW5 650 -30 5
* KJ 2SE3 140 20 1 ||e9 ¢ AK5 3NE5 660 -3.0 1
& A75 1HE4 170 -3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
& K96 4SE5 650 -11.0 1 POVEN LKT
v2 4HE4 620 -11.0 1 ||N ~ ~ ~ ~ ~ ¢ K98532
o A92 S ~1~~~ 47T6
~ J98632 E 5~~55 aAJ9
W5~~55




X AN 33z 4 R
2 114 £ 3 2FABEHRE L2 ==> R2 2
L v L
Ve V. \\
#1: 13 751 (36.59) #2: 6 E1(31.94) #3: 8 11178(26.13)
1 1 NS: SEHEE FEEEEE C) 8 NS: &5 HER(H0) 26 VP:| 572 : 14.28| Total VP: 17.90 Rank:
EW: RHETF EHETFE0) EW: BiSE Z=&4R(FC) -8 IMP:| 10 23 9
N _
# 11 » JT76 4HW-1 -50 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 3HW4 170 Mean: 3HW4 170 6.0 1
v6 4HW-1-50 -40  3NE3 400 80 1 v JT4 4HE5 450 -400  3HE5 200 5.0 1
¢ J53 Dif: 0 NS:3 4HW4 420 90 2 + 862 Dif: -280 NS:-2 4HW4 420 1.0 1
» AT865 IMP: 0 EW:-3 » KQ5 IMP: -7 EW:-6 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 73 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
s K & QJ9%4 & 62 & T83
*+¢veN LAQS ®e¢veN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T964 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 2DW4 130 Mean: 5DW-1 100 80 1 ||#14 » QT85 3NW-1-50 Mean: 3NW-3 150 40 1
v 763 3DW4 130 -250 3DW3 110 40 1 v J6543 3NE-1-50 -10  3NE-2 100 30 7
¢ J2 Dif: 0 NS:3 3DW4 130 30 2 *3 Dif: 0 NS:2 3NW-1 50 20 1
» 9653 IMP: 0 EW:-3 2DW4 130 30 5 » JT4 IMP: 0 EW:-2 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 » J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 -9.0 2 ||a 93 & K765
®IVeN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ ¢82
S 1~~~~ ¢K6 S ~~~~~ ¢ KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W ~3~~1
# 15 » 2HN2 -110 Mean: 5DS5 600 120 1 ||# 16 » AJ6 2HN5 -200 Mean: 1NW-5 500 7.0 1
v KJ972 5DS5-600 20  2NN2 120 40 2 v KJT84 2SN5-200 190  4HN5 450 6.0 1
¢ T8543 Dif: 490 NS:12 2HN2 110 40 1 + 963 Dif: 0 NS:0 1NW-4 400 50 1
» AK7 IMP: 10 EW:-4 5DS-1 100 20 2 aJT IMP: 0 EW:0 2DW-3 300 30 1
s J94 » QT765 5DN-1 100 20 4 ||a Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 || Q9 —_ v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 ¢+ QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIV SN L KTB72 2HN3 140 20 1
N ~5~~2 o4 N ~~443 v A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 7.0 1
W ~~~~~ W 2~~~+~
#17 » K6 4HE-4 -200 Mean: 4HE-4 200 100 1 ||# 18 s Q9 4SE4 420 Mean: 6SW-2 100 110 1
v 84 5DE5400 -250 6DE-2 100 80 1 v 962 4SW5 450 -430 3NE3 400 1.0 2
+ 985 Dif: -600 NS:-4 5DE-1 50 7.0 1 + K865 Dif: -30 NS:-1  4SW4 420 0.0 2
» T87642 IMP: -12 EW:-10 2CXN-1  -100 4.0 1 » T854 IMP: -1 EW:0 4SE4 420 0.0 2
» AJ832 T 1SXS-1 100 40 1 ||a KT7632 & A5 3NE4 430 0.0 1
v9 v AKT53 5DES5 400 40 1|]leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 [|e AJT + Q93 4SW6 480 20 2
+ QJ9 & A3 3NW4 430 50 6 ||a 762 & AKQJ 6SW6 980 -11.0 1
®eVeN L Q9754 ®*eveN L34
N ~~~~~ ¢ QJ762 N ~~~~~ ¢ AJB75
S ~~~~~ oA S ~~~~~ o742
E ~5~~3 akK5 E 5~~44 493
W~5~~3 W 5~~44
#19 »QJ 4CN-150 Mean: 4SE-2 200 7.0 1 [|#20 a72 4SW5 650 Mean: 5SW-1 100 120 1
v QT7 3HE3140 -80  4HXE-1 200 7.0 1 v6 5SW5 650 -550 2HW6 230 80 1
¢ QT75 Dif: -90 NS:-2 4HE-1 100 50 4 + QJ87432 Dif: 0 NS:-3 A 00 2
» KQT4 IMP: -3 EW:-1 4CS-1 50 1.0 1 a 874 IMP: 0 EW:3 3NE4 630 20 1
# AT8742 s 53 4CN-1 50 1.0 1 || AJ8543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 + AK5 3NES5 660 3.0 1
ry & A75 1HE4 4170 30 1 ||s KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1 [[N ~~~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ oT6
E ~~43 ~ 4J98632 E 5~~55 a&AJ9
W ~~43~ W 5~~55




St - - 2
2 114 £ F 2RAGERF Bl e = R2 2
L v L
Ve V. \\
#1: 13 751 (36.59) #2: 6 E1(31.94) #3: 8 11178(26.13)
1 2 NS: REF FEREGH0) -14 14 NS: 15fREE BREEN(BAC) -14 VP:| 10.39 : 9.61 Total VP: 18.21 Rank:
EW: PhEEE it 7.22(BAC) 14 EW: 3R{Z8B ERHE£(FI0) 14 IMP:| 15 : 14 8
N -
# 11 » JT76 4HW4 -420 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE4 -420 Mean: 3HW4 170 6.0 1
v6 4HW-150 -40  3NE3 400 80 1 v JT4 4HES5 -450 -400  3HE5 200 5.0 1
¢ J53 Dif: -470 NS:-9 4HW4 420 90 2 + 862 Dif: 30 NS:-1  4HW4 420 1.0 1
» AT865 IMP: -10 EW:-3 » KQ5 IMP: 1 EW:2 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 a73 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
s K & QJ9%4 & 62 & T83
*eveN LAQ8 *eveN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T94 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 3DW3 -110 Mean: 5DW-1 100 80 1 ||# 14 » QT85 3NW-3 150 Mean: 3NW-3 150 40 1
v 763 3NW3 -600 -250 3DW3 110 40 1 v J6543 3NE-2100 -10  3NE-2 100 30 7
¢ J2 Dif: 490 NS:4 3DW4 130 30 2 *3 Dif: 50 NS:4 3NW-1 50 20 1
» 9653 IMP: 10 EW:8 2DW4 130 30 5 » JT4 IMP: 2 EW:-3 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 » J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 90 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ 982
S 1~~~~ ¢K6 S ~~~~~ ¢ KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W ~3~~1
# 15 S 3NN-1-100 Mean: 5DS5 600 120 1 ||# 16 » AJ6 1NW-1 100 Mean: 1NW-5 500 7.0 1
v KJ972 5DN-1-100 -20  2NN2 120 40 2 v KJT84 INW-1100 190  4HN5 450 6.0 1
¢ T8543 Dif: 0 NS:-2 2HN2 110 40 1 + 963 Dif: 0 NS:-3 1NW-4 400 50 1
» AK7 IMP: 0 EW:2 5DS-1 100 20 2 aJT IMP: 0 EW:3 2DW-3 300 30 1
s J94 » QT765 5DN-1 100 20 4 ||a Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 ||v Q9 —_ v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIVEN A KT872 2HN3 140 20 1
N ~5~~2 w4 N ~~443 ¢ A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 7.0 1
W ~~~~~ W 2~~~+~
# 17 & K6 3NW4 -430 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SW4 -420 Mean: 6SW-2 100 11.0 1
v 84 3NW4 -430 250  6DE-2 100 80 1 v 962 4SW5 -450 -430  3NE3 400 1.0 2
+ 985 Dif: 0 NS:-5 5DE-1 50 7.0 1 + K865 Dif: 30 NS:0 4swa4 420 0.0 2
» 787642 IMP: 0 EW:5 2CXN-1  -100 4.0 1 » T854 IMP: 1 EW:1 4SE4 420 0.0 2
» AJ832 T 1SXS-1 100 40 1 ||a KT7632 s A5 3NE4 430 0.0 1
v9 v AKT53 5DES5 400 -40 1 ||leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 ||e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||a 762 & AKQJ 6SW6 980 -11.0 1
®eveN , Q9754 ®*eveN L34
N ~~~~~ ¢ QJ762 N ~~~~~ ¢ AJB75
S ~~~~~ oA S ~~~~~ o742
E ~5~~3 akK5 E 5~~44 493
W~5~~3 W 5~~44
#19 » QJ 4CS-1-50 Mean: 4SE-2 200 7.0 1 ||#20 » 72 3NE5 -660 Mean: 5SW-1 100 120 1
v QT7 4HE-1100 -80  4HXE-1 200 7.0 1 v6 4SW6 -680 -550 2HW6 230 80 1
¢ QT75 Dif: -150 NS:1  4HE-1 100 50 4 + QJ87432 Dif: 20 NS:3 A 00 2
» KQT4 IMP: -4 EW:-5 4CS-1 50 1.0 1 » 874 IMP: 1 EW:4 3NE4 630 20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 + AK5 3NES5 660 3.0 1
ry & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1 [[N ~~~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ 47T6
E ~~ 43~ 4J98632 E 5~~55 aAJ9
W ~~43~ W5~~55




St - -
2 114 £ § iﬁ]#ﬁ’ﬁmﬁ% Bt e ==> R2 2
#1: 13 2B (36.59) #2: 6 EH#(31.94) #3: 8 IJJ/i(26 13)
1 3 NS: SA525 PR EAC) 38 10 NS: 8 BRiEF5(BA0) -2 VP:| 20.00 : 0.00 | Total VP: 36.59 Rank:
EW: BiE7 FEE5EE0) 26 EW: 5RE# HEBE(FAC) -3 IMP:| 62 4 1
N - _ -
# 11 » JT76 3NE3 400 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE5 450 Mean: 3HW4 170 6.0 1
v6 4HW-1-50 -40  3NE3 400 80 1 v JT4 4HE5 450 -400  3HE5 200 5.0 1
¢ J53 Dif: 450 NS:3 4HW4 420 90 2 + 862 Dif: 0 NS:-2 4HW4 420 1.0 1
» AT865 IMP: 10 EW:8 » KQ5 IMP: 0 EW:2 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 473 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
s K & QJ9%4 & 62 & T83
*+¢veN LAQS *eveN L QT4
N ~~~~~ ¢Q32 N~~r~~~ o7
S ~~~~~ 4T94 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
#13 » KJ63 1NW3 150 Mean: 5DW-1 100 80 1 ||#14 » QT85 3NW3 400 Mean: 3NW-3 150 40 1
v 763 2DW4 130 -250 3DW3 110 40 1 v J6543 3NE-2-100 -10  3NE-2 100 30 7
¢ J2 Dif: 20 NS:3 3DW4 130 30 2 *3 Dif: 500 NS:3 3NW-1 50 20 1
» 9653 IMP: 1 EW:-3 2DW4 130 30 5 » JT4 IMP: 11 EW:9 3NE-1 50 20 2
4 QT5 N » A982 1NW3 150 30 1 ||s AK3 » J74 3NW3 400 9.0 1
v AK9 v T854 3NW3 600 -80 1 ||v KQT97 vA 3NE3 400 9.0 2
+ AT954 + + Q873 w5 660 9.0 1 ||e Q86 + AT942
& KQ T 3NW4 630 90 2 ||a 93 & K765
®eveN 74 ®eveN L0962
N ~~~~~ ¢QJ2 N ~~~~~ 982
S 1~~~~ ¢K6 S ~~~~~ ¢ KJ75
E ~4431 &AJ8742 E ~3~~1 & AQ82
W ~4431 W ~3~~1
# 15 S 5DN-1 100 Mean: 5DS5 600 120 1 ||# 16 » AJ6 2DW-3 -300 Mean: 1NW-5 500 7.0 1
v KJ972 5DN-1 100 -20  2NN2 120 40 2 v KJT84 2HN3 -140 190  4HN5 450 6.0 1
¢ T8543 Dif: 0 NS:-2 2HN2 110 40 1 + 963 Dif: -160 NS:-2 1NW-4 400 50 1
» AK7 IMP: 0 EW:2 5DS-1 100 20 2 aJT IMP: -4 EW:-3 2DW-3 300 30 1
s J94 » QT765 5DN-1 100 20 4 ||a Q9 s 543 1NW-3 300 30 1
v A5 v QT863 3NN-1 4100 20 1 || Q9 —_ v 753 2SN5 200 00 1
* KJ ¢ 62 3NN-2 200 50 3 ||e AK2 ¢+ QT74 2HN5 200 00 1
& QJT653 &9 & KQ9632 & 854 3HS3 140 -20 1
¢V eN L AK832 PIV SN L KTB72 2HN3 140 20 1
N ~5~~2 w4 N ~~443 ¢ A62 1NW-1 100 30 3
S ~5~~2 ¢AQ97 S ~~443 4J85 3HN-1 50  -6.0 1
E ~~~~~ 4842 E 2~~~~ aA7 3HN-2 100 7.0 1
W ~~~~~ W 2~~~+~
# 17 & K6 3NW4 430 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SW5 450 Mean: 6SW-2 100 11.0 1
v 84 5DE-1-50 -250 6DE-2 100 80 1 v 962 6SW-2 -100 -430 3NE3 400 1.0 2
+ 985 Dif: 480 NS:7 5DE-1 50 7.0 1 + K865 Dif: 550 NS:11 4SW4 420 0.0 2
» T87642 IMP: 10 EW:5 2CXN-1  -100 4.0 1 » T854 IMP: 11 EW:1 4SE4 420 0.0 2
» AJ832 T 1SXS-1 100 40 1 ||a KT7632 a A5 3NE4 430 0.0 1
v9 v AKT53 5DES5 400 40 1|]leQ v KT43 4SW5 450 1.0 3
+ KJT6 + Q7432 3NW3 400 40 2 [|e AJT + Q93 4SW6 480 20 2
& QJ9 & A3 3NW4 430 50 6 ||a 762 & AKQJ 6SW6 980 -11.0 1
®eVeN L Q9754 ®*eveN L34
N ~~~~~ ¢QJ762 N ~~~~~ ¢ AJ875
S ~~~~~ oA S ~~~~~ o742
E ~5~~3 aK5 E 5~~44 493
W~5~~3 W 5~~44
#19 »QJ 2SE3 140 Mean: 4SE-2 200 7.0 1 [|#20 a72 4SW5 650 Mean: 5SW-1 100 120 1
v QT7 4HE-1-100 -80  4HXE-1 200 7.0 1 v6 5SW-1-100 -550 2HW6 230 80 1
¢ QT75 Dif: 240 NS:5 4HE-1 100 50 4 + QJ87432 Dif: 750 NS:12 A 00 2
» KQT4 IMP: 6 EW:2 4CS-1 50 1.0 1 » 874 IMP: 13 EW:3 3NE4 630 20 1
# AT8742 4 53 4CN-1 50 1.0 1 || AJ8543 » Q96 5SW5 650 3.0 2
v J93 v AK8654 3HE3 140 20 2 ||e AT + v QJ74 4SW5 650 30 5
+ 8643 * KJ 2SE3 140 20 1 ||e9 + AK5 3NES5 660 3.0 1
ry & A75 1HE4 470 3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
PIVEeN , K6 4SE5 650 -11.0 1 POVEN LKT
N 31~~~ 92 4HE4 620 110 1 [[N ~~~ ~ ~ ¢ K98532
S 3 ~~~~ ¢A92 S ~1~~~ oT6
E ~~43 ~ 4J98632 E 5~~55 a&AJ9
W ~~43~ W 5~~55




St - - 2
2 114 £ 3 2FABEHRE L2 ==> R2 2
L v L
Ve V. \\
#1: 13 751 (36.59) #2: 6 E1(31.94) #3: 8 11178(26.13)
1 4 NS: #BIXRE BREEEIEAC) -14 1 2 NS: REF BER(BO) -14 VP:| 9.61 10.39| Total VP: 15.89 Rank:
EW: 5R{&HEH BRMEf2(BHO) 14 EW: 3R 2% (BAC) 14 IMP:| 14 15 11
N _ -
# 11 » JT76 4HW4 420 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE4 420 Mean: 3HW4 170 6.0 1
v6 4HW-1-50 -40  3NE3 400 80 1 v JT4 4HE5 450 -400  3HE5 200 5.0 1
¢ J53 Dif: 470 NS:3 4HW4 420 90 2 + 862 Dif: -30 NS:-2 4HW4 420 1.0 1
» AT865 IMP: 10 EW:9 » KQ5 IMP: -1 EW:1 4HE4 420 1.0 2
# 9542 » K3 #» AKS8 473 4HWS5 450 20 2
v A9754 v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ AQ8 ¢ K72 ¢ K973 * AJT
s K & QJ9%4 & 62 & T83
*eveN LAQ8 *eveN L QT4
N ~~~~~ ¢Q32 N ~~~~~ o7
S ~~~~~ 4T94 S ~~~~~ 4054
E ~~4~2 a732 E ~55~2 & AJ974
W ~~4~2 W ~55~2
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